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The figures in the margin indicate full marks for the questions

PART—I/fRel—=

( Botany )
(Ofew <@l )

1. Who discovered plant nucleus? 1

Tfen FrREeT @ WgR FRRe 2

2. Who proposed transpiration pull and cohesion of water
theory? 1|

2T Fe] SE 2RI A oW (Pl 2] PINRE 2

3. What is the full form of EMP pathway? 1
3. @, P, 1% oo ofow 15 2

4. Define autotrophic and heterotrophic plants with
examples. 2

TnRAerTE Fres W feacersl Sievq ke fora |

5. Draw and label the moss capsule. 2

g Y999 2R wife e w4
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6.

10.

11.

12.

(2)

Mention the four major characters of prokaryotic cell. 2
SCPRCFAIN CPIR BIRGT &4 BRE Teay <1 |
Write the specific roles of IAA. 2

R, 9. 9.7 A8 SR foran |

Mention two examples each of long-day and short-day
plants. 2

Ter-fr o pfo-fret ©fema eweres Yot Twizad Sra 3 |

Differentiate between dicotyledonous and monocotyledonous
plants with examples. 3

faEeral s aﬁ@iﬂ@%ﬁwmfaﬂ’@mﬁtﬂrﬁw

Define inflorescence. Explain the chief differences between
racemose and cymose inflorescences with examples. 1+2=3
R ik fran | @foNe e SR <[eREE WeW 19 e
THIZIER CTCS A 4T

Write the structure and functions of mitochondria with
diagram. 1+1+1=3

TR SRR ofow S FRRa =N e |

What is transpiration? Discuss the role of stomata in
transpiration. 1+2=3

AT 12 2lgrere Tqamm Bl SeenH T4 |
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13. What is tissue system? Write the different types of
vascular bundles found in the angmspermm plants with
examples. 1+4=5
ooy 7 wRN& Tewe (i1 Riva a9 77zd o R Twserw
(3fc ferait |

14. Define photosynthesis. Write the prime differentiating

characters of cyclic and non-cyclic photophosphorylations.
1+2+2=5

W\mﬂﬁmmnmwmﬁﬁw’ﬁm@aw oA
2COCA foral |

Or/ 7331

Describe the external and internal factors affecting in
photosynthesis. S

AEARPRERTS o) [BE 391 IR IF ToRad FRIFEE I 41 |
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PART—II / Reto—

( Zoology )
(@=L )

1. Fill in the blanks : 1x5=5
<N 91 7[{ 9 :

(@) Polymorphism is notable in the phylum :
BEST O i i SN A |

(b) The chemical bonds which connect two amino acids

are !
TRy af¥ Gfew R F9 TR AR A
(c) Nissl’s granules are found in ___ cell.
0o SN S (oI T |
(d) RBC has the life span of about _____ days.

1. [, .3 Sewem 279 o e |
(e) Estrogen is secreted by ;
WeEeTHeReow g

2. Write the answer very briefly (any four : 1x4=4
=S YL Tes oy (R e wifsi) -

(@) In which form animal store carbohydrate?
2 fF T/ e e 5 2

(b) What is haemolymph?
&’ fere 52

(¢) What is G of cell cycle?
(PR &9 G 2
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(d) Name the vitamin essential for blood coagulation.
(OTH SO JMCI AT TR 1 fef=i |

(e) What is relaxin?
e 6 2

(f/ What is Bowman’s capsule?

I @ 2

3. Write the difference between the following (any two) :
2x2=4

were TR e 21 o (R Giee o)

(a) Bilateral symmetry and Radial symmetry
faenfife efestrer o S afose |

(b) Apoenzyme and Holoenzyme
G GG RN S 23 IRy

(c) Diabetes mellitus and Diabetes insipidus
orfRibe e e TR 2RFeR

(d) Rods and Cones
T I KGR

4. Answer the following briefly (any three) : 2x3=6

were frIcas ©ed vt ol (R e fofion)

(a) “Bat is a mammal, not bird.” Justify the statement
through comparison.

‘i vAR T2, aRy TR 1 SRER wemee 3 o |

(b) Why is enzyme renin important for infants?

CPHAIN A1C T (Jfoe 5 wFgeyef 2
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(c) Write the importance of hemodialysis.
fear reTRfeRs G for |

(d) “Gonads are also endocrine glands.” Explain the
statement.

‘e AfRTIN SEemEl afRe I’ Sfeeer e 4 |

() Why is the S-A node termed as pacemaker of the
heart?

S-A Ve 7 TmEs @elfe-free I+ @/ =2
S. Write short notes on (any two) : 3x2=6
oY (oIl Terst (R et vot)

(a) Egg laying mammals
A °R[1 eIl

(b) Haldane’s effect
(Z5TCed “IfRgBa

(c) Blood group
€ 79

(d) Tidal volume
RS EICT

(e) Synapse
TR

C7/29 ( Continued )



(7))

6. What is cell cycle? Describe the first prophase stages of

first meiosis division with suitable diagram. 1+4=5
@R v 72 23 Fer'Rke Remas o438 e wiPER Sige far
el <410 1

Or /%31

What is nucleic acid? Write the structure of DNA as
explained in Watson and Crick model. Mention the two
important functions of DNA. 1+3+1=5

e afer 62 A= e feres wfRe = oo 6. @7, @.3 10w forn |
f%. @ 9.3 751 @Fge T Sea ¥4 |

7. What is blood coagulation? Describe the process of blood
coagulation. Name the two natural anticoagulants in
blood. : 1+3+1=5

(oo o {57 (ST Hroww AN I T | (ST AT Yo ARROT
STSYECIRI N {111 |

Or /#1231

What is organ of Corti? Describe briefly the structure and
function of human ear. 1+2+2=5

o9 oal 6 2 TRRT 969 510 S IR B e |

W % ok
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